
Multiply by 10⁻² (F)Find each product.
45 × 10⁻² = 67 × 10⁻² =
96 × 10⁻² = 79 × 10⁻² =
64 × 10⁻² = 71 × 10⁻² =
27 × 10⁻² = 11 × 10⁻² =
11 × 10⁻² = 55 × 10⁻² =
30 × 10⁻² = 76 × 10⁻² =
62 × 10⁻² = 51 × 10⁻² =
74 × 10⁻² = 94 × 10⁻² =
50 × 10⁻² = 90 × 10⁻² =
60 × 10⁻² = 86 × 10⁻² =
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Multiply by 10⁻² (F) AnswersFind each product.
45 × 10⁻² = 0.45 67 × 10⁻² = 0.67
96 × 10⁻² = 0.96 79 × 10⁻² = 0.79
64 × 10⁻² = 0.64 71 × 10⁻² = 0.71
27 × 10⁻² = 0.27 11 × 10⁻² = 0.11
11 × 10⁻² = 0.11 55 × 10⁻² = 0.55
30 × 10⁻² = 0.3 76 × 10⁻² = 0.76
62 × 10⁻² = 0.62 51 × 10⁻² = 0.51
74 × 10⁻² = 0.74 94 × 10⁻² = 0.94
50 × 10⁻² = 0.5 90 × 10⁻² = 0.9
60 × 10⁻² = 0.6 86 × 10⁻² = 0.86
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